" [a] B | E | A | swE
= gL 2 2% | @ [m) (mm)
L—77 X3)LE > BB LA LK | 205 | 21.5 1 10 100
L—7XIIEVEEFRUT L FicicE#B LA LK | 103 108 1 10 100
L—7XOIEVEB/NILEFUBRIZATIL [ XZ2/ =)L 21 24 10 | 100 100
L—7 ANZF > eémol " | 18F& 33 | 36.5 10 | 100 100
L—7 ZAINTX B eémol /" | 1&E 24 26 8 | 100 100
L—7 ANZXUEEF NI L 1B (1-2) 18 21 4 50 100
l—a—TFR/NFIN—L—T =N TFS=UXFLIZFL | 15mol /| £ 145 | 16.5 2 50 100
L=72=> émol | 1Ef& 13.5 | 155 10 | 100 100
L—7ILF¥Z> émol | 2% 25 | 27.9 8 | 100 100
L—T7ILFXZ> L—JILZ I VR 1B (1-2) 28 30 4 50 100
TILF¥ R KB MU LA (4.3—100) -80 | -180 0.5 | 100 100
L—rvAaTrs > 1B (1-2) 38 | 415 2 50 100
AV TFROIE V& FlICEHB LA LK | -16.2 | -18.2 1 10 100
AV T RAIEVEEFT R L 7K 95.5 98 1 10 100
HIL>7za-)b Ire/—) 102 107 0.3 20 100
L—T L2 7K 6.3 7.3 4 1100 100
L—JILZ = V& 1B (1-6) 31.5 | 325 10 | 100 100
L—JIE I VBT L 18/ (1—4) 22.5 24 10 | 100 100
L—JIEZ AL T L 8% (1—4) 274 | 29.2 10 | 100 100
L—J IR VBT DL 18EL (1-5) 24.8 | 25.3 10 | 100 100
L—J IR VBRI RS T L 1B (14) 28.8 | 30.7 10 | 100 100
aLAiLe7za-—-)L Ire/—) 103 112 0.1 20 100
Mg | - X>F)L AW -70 15 | ) hEAE 100
B—>oO7FRKUY 7K 160 164 1 | 100 100
L—>RFY 1mol /| 18F& -215 | -230 2 | 100 100
L—> R T IEEIE 8% (1—10) 5 8 4 50 100
1, 8—>xA—I)L -3 10 | 7F) heE 100
L —Ba d—BAEK 7K 11.5 | 135 10 50 100
L—BaEKEN T L TUERZTERK K 32.5 | 355 5 50 100
L—BARERT UL 7K 25 | 275 5 50 100
RV ZH—R 7K 84 | 87.5 1 10 100
L—te)> 2mol /" | 1EEE 13.5 16 10 | 100 100
L—Fa> > 1mol /| 1BE& -10.5 | -12.5 5 | 100 100
L—77=> 7K 1.7 8.5 2.5 50 100
d—a—td27xz0-)L 24 100
L—~UZFET 7> 7K -30 -33 0.5 50 100
DL—bLAZ> 7K -26 -29 3 50 100
L—/\) > 1B (1-2) 26.5 29 4 50 100
N TPV T L 7K 25 | 28,5 | 1.25 25 100
N T RIT L 7K 25 | 28,5 | 1.25 25 100
EAF> HIKERIEF b D LK 89 93 0.4 20 100
L—EXFTV 6mol /" | 1EE 11.5 | 135 11 | 100 100
L—EXF VRIS B/E (1—2) 8.5 | 10.5 55 50 100
L—erOx>7aOl > 7K -14 -7 4 1100 100
L—7 272> 7K -33 | -35.2 1 50 100
L—>7al) > 7K -84 -86 4 1100 100
[—RUIJLTILTER -110 | -150 | &) HEXE 100
d—RIL=A =)L Iv/—) 16 37 2.5 25 100
SwyXbN27z0O-)L 20 100
L—XFAZ> 1B (1-2) 21 25 1 50 100
d—X> k=)L Ie/—) -2 2 2.5 25 100
|—X> b=)L Ire/—) -45 -51 2.5 25 100
L= 6mol /| 1&E 23.3 | 29.3 2 | 100 100
L= > L—T7 AN UESE 1B (1-2) 24 | 26.5 4 50 100
L—1) > VigReE B/E (1—2) 19 | 215 4 50 100
L=y L—TIL2 I VR 1BEL (1-2) 27.5 | 29.5 4 50 100
JR7ZEY -128 | -142 0.1 20 100
DRISEVUVBIZRTILF UL |38 (9—20) 38| 43| 03 | 20 | 100
(i b % 6mol /| 1&E 145 | 16.5 4 1100 100




